
���������	��

�������
������
����
�����������! "�#���
$&%�$(')$+*-,

.0/213154 687�9:7;1315<�=;>34 =?7A@CB?DFEHG�/&IA/KJH/L>3EHG�G)4M@CBNIO4 P QO4 7&IO72RS/2G)<L@CBH/K=HTVU	=;>372=?4 7V9:W?<�P PX/O@CB Y
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F ¡ ��b2pvp5h)�uh)^ac2tFog¡ t�f�cC\v\vkSsL^a` s;c2t�³�¡ �&�#kS\v` wCs;` s;w&h²��b;i ^a` �]h�wCkSsL^	\vcCi b2^a` cCs��Xc�p�h8¯AcLcC·K\_^ac�pak
®�` ^ay»^ay;k²�Oh�\v\v`���k3^ay;cKd2cCi cCw��L¡Ú[]s
���;cCb2pv^ay»[]sL^ak3pasOh)^a` cCsOh�i ��` �_f�cCs2�Xk3pakSs;jSk � c�pa·K\vy;cC�
cCs(n:wCkSsL^v���:pa` kSsL^ak�de[]s2�Xc�pa�-h)^a` cCs8{L�2\_^akS��\�´Mn���[v{L�_��}C}��Cµ5t � c�pacCsL^ac(´���sL^5h)pa` c2t;f�h�sOhCd;h�µ
´���}C}��Cµ

�K¡���� ��pa` kSsHtNog¡ t?x�` jScCiutNl	¡ ���g` �Oh-��^ac�®�h)p5d2\	h-\_^5h�sOd;h)p5d²�Xc�p	\vc�� ^]®�h)pak-h�wCkSsL^a\S¡ � � � kSj5y2�
s;cCi cCw��8½CcCb2pasOh�i ��� ´_~�|C|C��µ 5 ~ �!5 ||K¡	ogcC\vi hCd?tK{A¡ t���b;j5·Ki kCt�og¡ t��#hCd2` s;wCyOh��8t)l	¡ � � y;k�¸O�Oh)��cC\Fh�wCkSsL^��;i h)^v�Xc�pa� �����AkSs�\vcCb2pajSk��Xc�p
cC�AkSs(\_^5h�sOd;h)p5d2\S¡�[]s
� 5 ^ay8[]sL^ak3pasOh)^a` cCsOh�iNf�cCs2�Xk3pakSs;jSk�h�sOd G ¶2y;` ¯;` ^a` cCs(cCs(^ay;kmoqp5h�j3^a` j�h�i
n:�;�;i ` j�h)^a` cCs8c��q[]sL^akSi i ` wCkSsL^�n:wCkSsL^a\�h�sOd²³(b;i ^a` �]n:wCkSsL^a\StA³8h�s;j5y;kS\_^ak3p�t;��� ´���}C}C}�µ

~�}K¡ ��kSi i ` �XkS��` s;kCt���¡ t?ogcCwCwC`utHn	¡ tAl:` �-h�\v\ahKt 6 ¡ ��½�hCd2k	��h�¸O�Oh���}C}C}-jScC���;i ` h�sL^#h�wCkSsL^md2kS��kSi �
cC�;��kSsL^#kSsK�K` pacCs;��kSsL^�¡�[]s
�Hn:wCkSsL^a\��g` � ^ayV[]sL^ak3pasOh)^a` cCsOh�i�f�cCs2�Xk3pakSs;jSk�cCs
n:b2^acCs;cC��cCb;\
n:wCkSsL^a\m´Mn:wCkSsL^a\:��}C}K~)µ5tH³(cCsL^vpak�h�iut?f�h�sOhCd;h(´���}C}K~)µ

~C~C¡ 6 h����-hKt G ¡ t	��kSi �8tql	¡ t�½CcCy;s;\vcCsHtFl	¡ t z i ` \v\v` d2kS\St�½2¡ �0�#kS\v` wCsØoqh)^v^ak3pas;\ G i kS��kSsL^a\�c��
l:kSb;\ah�¯;i k���¯K°_kSj3^��:pa` kSsL^ak�d8{Kc�� ^]®�h)pakC¡�n�d;d2` \vcCs2� � kS\vi k3��´_~�|C| � µ~)�L¡��H` sOd?t;½2¡ ��oqh)^v^ak3pas;\�` s8h�wCkSsL^v��c�pa` kSsL^ak�d(\vc�� ^]®�h)pak�kSs;wC` s;kSk3pa` s;w2¡�[]s
�On��m{ G � c�pa·K\vy;cC�²h)^
n�n#³8n#{+��}C}��Lt ��cCi cCwCsOhKtA[�^5h�i ��´���}C}��Cµ

~ � ¡��H` sOd?t�½2¡ �à[�^ak3p5h)^a` ��k
\vc�� ^]®�h)pak¹kSs;wC` s;kSk3pa` s;w»�Xc�pV��b;i ^a` h�wCkSsL^&\_�2\_^akS��\8�+^ay;k
�-h�\v\v` ��k
��k3^ay;cKd?¡��HkSj3^ab2pakmx�c�^akS\�` s&f�cC���;b2^ak3p�{KjS` kSs;jSk ����� � ´���}C}C}�µ~ � ¡	n�pa` d2c�p�t���¡ t �Nh�s;wCkCt���¡ �:¡ �Øn:wCkSsL^-d2kS\v` wCs»�Oh)^v^ak3pas;\ � G i kS��kSsL^a\ec��mh�wCkSsL^+h��;�;i ` j�h)^a` cCs
d2kS\v` wCsH¡�[]s
�;n:b2^acCs;cC��cCb;\�n:wCkSsL^a\!� |C�K¡g´_~�|C|C��µ

~ 5 ¡	n:wCkSsL^ajS` ^a` kS\S¡ x G � �:´uyL^v^a�
� >2>�®�®�®m¡ h�wCkSsL^ajS` ^a` kS\S¡ s;k3^3µ~ = ¡	n:i k3¶;h�sOd2k3p�tOf:¡ � � y;k � ` ��kSi kS\v\ � hS�+c�� ��b;` i d2` s;w2¡��:¶K�Xc�p5d(��s;` ��k3pa\v` ^]�+oqpakS\v\�´_~�| F |�µ~ F ¡��;cCb;sOd;h)^a` cCs¹�Xc�p([]sL^akSi i ` wCkSsL^(oFyL�2\v` j�h�i#n:wCkSsL^a\ �"�g[_o?n []sL^ak3p5h�j3^a` cCsºoqpac�^acLjScCi!�H` ¯2p5h)pv�
{K�AkSjS` ¸Oj�h)^a` cCsH¡N´���}C}C}�µ


